NS

S\
2\ FIRST-YEAR SANSKRIT

}}' AT THE UNIVERSITY OF CHICAGO

=\

NS |

: §R% Designed by Andrew Ollett


https://creativecommons.org/licenses/by-sa/4.0/

Rl TS =
P 2 N
LBV =
L < = il
= = RS ]
5 =X |
> 1+ — 4 i
, 4
L WAk =
7 = E. L
1 ¥ e | 3
- i
¥ - AN
= =i
« .l’
5

'.:.. &\

) adadiganal i SHIEQUE

[E=A]]

sanshkrit at nchicago




- -v
:—'{7‘:7_\ r-{ RESEN s EMS REvI Ew
-t '.
.
lot . A =
1 o) 4

Remember that several tense-moods (the
present, imperfect, optative and imperative)
are formed from the same verbal stem,
which we call the present stem.
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inflectional endings are added:

bhava-tii
! !

stem ending

[E=d]]

sanskrit at uchicago



) PRESENT STEMS (REVIEW)

The verbal stem itself is formed from a verbal
s root by the addition of a stem forming suffix
N\ (called a vikaranah in Sanskrit):

bhav-a-ti
A T A
root

suffix

ending ”Q@E"
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suffix

ending

i~} PRESENT STEMS (REVIEW)

The verbal stem itself is formed from a verbal
root by the addition of a stem forming suffix
(called a vikaranah in Sanskrit):

bhav-a-ti

The suffix can induce changes
in the verb, like changing it from
the zero-grade form bhi- to the
full-grade (gunah) form bhav-.
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Every verb in Sanskrit is assigned to one of
ten present classes, which are defined by
the present stem forming suffix that they use.

[E=d]]

sanskrit at uchicago



- -.
i T .:
e
|
ot > -
Ve o) 4

So far, we have surveyed four present
classes, which are called “thematic” because
their present stem forming suffixes all end
with the “thematic” vowel a.
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{>Z4 PRESENT STEMS (REVIEW)

Class 1:
Vbhii + SaP -

Class 4:
Vdiv + SyaN -

Class 6:
Jtud + Sa -

Class 10:
Veur + NiC + SaP -

bhav-a-ti
div-ya-ii
tud-a-ti
cor-aya-ii
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One of the effects of the thematic vowel is
that the verbal stem does not change
throughout the paradigm. The verbal stem
remains the same regardless of the endings
that follow it.
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=2 ATHEMATIC PRESENT STEMS

This is not true for the other verb classes: in
them, some endings will take a “strong”
form of the stem, and other endings wili
take a “weak” form of the stem.

& The same principle as in nominal forms with multiple stems is
involved: there was, early in the history of the language, a
competition between the stem and the ending for prominence — in
terms of both accent and vowel gradation — and hence prominence
was manifested in either the stem or the ending, and not both.
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The strong stem is used in the singular of
the parasmaipadam, and the weak stem is
used everywhere else (i.e., in the dual and
plural of the parasmaipadam, and in all
numbers of the atmanépadam).
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We will introduce this system with verbs of the
second class (ad-adi-ganah, “the list [of
verbal roots] of which the beginning is Vad
Eeat!!!).
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This class has no present stem forming
suffix. The endings are added direcitly to the
verbal root.

4 Thisis an example of a “zero suffix.” Panini refers to it as the
replacement by zero (/uk) of another present stem forming suffix.

In most verbs, the strong stem is formed with
gunah, and the weak stem without it.
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Sg. du. pl.
3rd Z - - ., ;-
e-ti I-tah y-anti
2nd z . . 7 . s
e-si I-thah I-tha
i é-mi i-vah i-mah

parasmaipadam — present (lat)

We will use Vi “go” as an example. The simple
root (without preverbs) is parasmaipadi.
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=2 CLASS 2 VERBS
Notice the gunah form of the root in the

parasmaipadam singular:

sg. du. l.
3" é-1 i-tah y-anti
2" é-si i-thah i-tha
¥ &-mi i-vah i-mah
TEZd]]
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Sg. du. pl.
rd 4 nc . P 7 .
3 e-ii i-tah y-anti
2" e-si i-thah i-tha
iy e-mi i-vah i-mah

parasmaipadam — present (lat) ”Q@E "
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In the imperfect, the addition of the augment makes
the distinction between strong and weak forms of
the stem invisible:

Sg. du. pl.
3rd ~ o oo - L
ai-t al-tam ay-an
2nd 7= s s
ai-h al-tam al-ta
1*  ay-am ai-va ai-ma

parasmaipadam — imperfect (lan) " Q@E "
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In the atmanépadam we can use V1$ “rule.”

(There is no gunah in the atmanépadam, but this root does not undergo vowel gradation
anyway because it is “superheavy,” i.e., a long vowel followed by a consonant.)

Sg. du. pl.
3rd - Z — s L= —r 7y
IS-te 1S-ate 1S-ate
2 Tk-sé 1$-athé 1d-dhvé
1 15-6 1$-vahé 1$-mahé

atmanépadam — present (lat) ”Q@E "
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In the atmanépadam we can use V1$ “rule.”

Note that we have to apply internal sandhi between consonants!

sg du. pl
3rd Zz _—y L - —_—y s g
IS-te IS-ate IS-ate
2 Tk-sé 1$-athé 1d-dhveé
1 15-6 15-vahé 1$-mahé

atmanépadam — present (lat) ”Q@E "
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Note that the third person plural is -até (not
-ante, as we would expect from thematic verbs).

Sg du. pl
3rd 4 o>z bno -7 7=
IS-te IS-ate IS-ate
2" 1k-sé 1$-athé id-dhve
1 1$-6 1§-vahé  16-mahé
N
atmanépadam — present (lat) ”Q@: "
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Here is the imperfect:

Sg. du. pl.
rd , s sy =g = ss
3 ais-ta ais-atam ais-ata
2" Qis-thah  ais-atham aid-dhvam
1° ais-i ais-vahi ais-mahi

atmanépadam — imperfect (lan) ” Q@E "
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Note that the third person plural ending, once
again, does not have a nasal (-ata rather than -anta).

Sg. du. pl.
rd , s sy =g = s
3 ais-ta ais-atam ais-ata
2" Qis-thah  ais-atham aid-dhvam
1 ais-i ais-vahi ais-mahi

atmanépadam — imperfect (lan) ” 3@5 "
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Also note the first person singular ending (you might
not recognize it from forms like amanyé “l thought”).

Sg. du. pl.
rd s s =g = v
3 ais-ta ais-atam ais-ata
2" Qais-thah  ais-atham aid-dhvam
1° ais-i ais-vahi ais-mahi

atmanépadam — imperfect (lan) ” 3@5 "
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The general pattern is very regular. We'll now talk
about a few important exceptions to this pattern.
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The most important exception is the extremely
common verbal root Vas ‘be’:

strong stem: as-

weak stem: S-

It also inserts the augment -i- between the stem and
the ending in the second and third person singular of
the imperfect, which irregularly uses as- throughout.
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The most important exception is the extremely
common verbal root Vas ‘be’:

Sg. du. pl.
3rd , . 7 7 .

asti stah santi
2" asi sthah stha
¥ asmi svah smah

parasmaipadam — present (lat) " Q@E "
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The most important exception is the extremely
common verbal root Vas ‘be’:

Sg. du. pl.
3rd , . 7 7 .

asti stah santi
2" asi sthah stha
¥ asmi svah smah

parasmaipadam — present (lat) " Q@E "
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The most important exception is the extremely
common verbal root Vas ‘be’:

Sg. du. pl.
rd z Z - 4
3 astt astam asan
2" asih astam asta
1° 3sam asva asma

parasmaipadam — imperfect (lan) " Q@E "
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The most important exception is the extremely
common verbal root Vas ‘be’:

Sg. du. pl.
rd z 4 - 4
3 astt astam asan
2" asih astam asta
1° 3sam asva asma

parasmaipadam — imperfect (lan) ” Q@E "
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Other verbs in this class take an augment -I- or -I-
before endings beginning with a consonant.

The verb Vbri “speak™ has the following forms:

strong stem:  bravi- (before consonants)

weak stem: bruv- (before vowels),

bru- (before consonants)

* Cognate with the Avestan word mraot in the phrase aat mraot zarabustré = "Q@: ]l
“Thus spoke Zarathustra” sanskrit at uclji.cutgu
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\bri ‘speak’ (ubhayapadi):

Sg. du. pl
3 braviti bratah bruvanti
2" bravisi brathah bratha
1 bravimi brivah brimah

parasmaipadam — present (lat) ” Q@E "
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\bri ‘speak’ (ubhayapadi):

the glide -uv- (uvan-sandhi if you remember!)

Sg. du. pl
3° braviti britah bruvanti
2 pravisi brdithah bratha
1" bravimi brivah bramah

parasmaipadam — present (lat)

Note that before a following vowel, the & of the root becomes
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\bri ‘speak’ (ubhayapadi):

Sg. du. pl.
rd - Z EZ— -
3 brite bruvaté bruvaté
2" brise bruvathé  bradhve
1 bruvé brivahé brimahé

atmanépadam — present (lat) ”Q@E "
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\bri ‘speak’ (ubhayapadi):

Note that before a following vowel, the & of the root becomes
the glide -uv- (uvan-sandhi if you remember!)

Sg. du. pl.
rd - Z zZ ) -
3 brite bruvaté bruvaté
2" brise bruvathé ~ brudhve
1 bruvé brivahé brimahé

atmanépadam — present (lat) ”Q@E "
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\bri ‘speak’ (ubhayapadi):

Sg. du. pl.
abravit abrutam abruvan
abravih abrutam abruta

abravam abruva abruma

parasmaipadam — imperfect (lan)
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\bri ‘speak’ (ubhayapadi):

Sg. du. pl.

rd , - - — e P
3 abrita  4bruvatam  abruvata
2 abrathah  abruvatham 4&bradhvam
1 abruvi abravahi abramahi

atmanépadam — imperfect (lan) ” Q@E "
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A couple of other second-class verbs have a similar

pattern.

The verb Vrud “weep” has the following forms:

strong stem: rodi- (before consonants)

weak stem: rud- (before vowels),
rudi- (before consonants)
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A couple of other second-class verbs have a similar
pattern.

The verb Vsvap “sleep” has the following forms:

strong and svap- (before vowels),
weak stem: svapi- (before consonants)
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